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< sk THI FE

90-09-19
90-11-27
137-44-14
138-27-14

83-27-486

7 A

343-19-15
253—30—42
211-14-56
169-42-10

73-09-56

27.942

5.776
10,054
21.399

15,618

X (i)
-53517.961
-53491.194
-53492.834
-53501.429

-53522.484

Y (i)
44027.812
44019,792
44014, 254
44009.038

44012, 864

(Work No. 3)

[3]
X(i+1)-X(i-1)
31.290
25.127
~10. 235
-29.650
-16.532
& H %
(T

2

[2] % [3]

1377630,237480
1106085.313584
-450485,889690
-1304867,976700
~727620,.667648
741.017026
370.5085130

112,07



2-120

2-119

90-00-33

89-59-24

89-50-41
90-09-22

<k THI A&

7

253-19-51
163-19-156
73-09-56

343-19-18

st =

W

2.929
27.942
2,928

27.934

(

PE B 82 D

(1]

X (i)
-53490.354
-53481.194
~53517. 961

-53617.113

b I

[2]

Y (i)
44022.598
44019.792
44027.812

44030,6156

(Fork No. 4)

(3]
X(i+1)-X(i-1)

25.919
-27.607
-25.919
27.607

1% T ™

(I

R R

[2])%[3]

1141021,717562
~1215254,397744
~1141156,859228

1215553.188305

163.648895
81.8244475

24.75



it
o B R

9-121
2-119
2-120

2-122

0

2-119
2-120
2-122

2-121

2-3

89-57-54

90-00-58

90-04-30

89-56-38

s ok [HI FE

7w A

253-18-20
163-19-18
73-23-48

343-20-26

st =

W RE

12.390
27,934
12, 381

27,954

(

EE BR &R D

[1]

X (i)
-53486.795
-53490, 354
~53517,113

-53513.5756

< ok

[2]

Y (i)
44034, 466
44022.598
44030.6156

44042.4890

(Work No. §)

(3]
X(i+1)-X(i-1)
23,221
~30.318
-23.221
30.318
th | ™
[T
R &

[2] % [3]

1022524, 334986
~1334677.126164
~1022434,910915

1335279, 908640

692.206547
346. 1032735

104,69



3 x T AR S B O( EE P ER ) wx % (Work No. 6)

oW ® O 24
BwHA  BHeEx N A ¥ A WA [1] [2) [3] [2]) % [3]

X (i) Y (i) X (i+1)-X(i-1)
2-123 2-121 89-54-08 253-14-13 3.576 ~53485, 764 44037.890 25.748 11338887.591720
2-121 2-122 90-06-13 163-20-26 27.954 ~53486.795 44034, 466 -27.811 -1224642.533926
2-122 2-124 89-53-34  73-14-00 3.579 -53518,575 44042, 480 ~25.748 -1134005. 775040
2-124 2-123  90-06-05 343-20-05 27,953  -53512.543 44045,906 27.811 1224960.691766
R 1899.974520
[T 99.9872600

2O 30,24



# R

2-125
2-123
2-124

2-126

W

2-123
2-124
2-126

2-125

89-27-556
89-57-31
90-02-438

90-31-46

% < THI FH

7 A

253-22-34
163-20-05
73-22-53

343-54-39

st =

BEOBE

12,204
27.953
11,9823

27.956

(

BE B )

X (i)
-53482.272
-53485, 764
~-53512.543

-53509,133

= S

Y (i)
44049,584
44037.890
44045,906

44057, 331

(Work No. 7)

[3]
X(i+1)-X(i-1)
23.369
-30.271
-23,369
30,271
15 |
T
R

[2] % [3)

1029394, 728496
~1333070, 968190
~1029308. 777314

1333659, 466701

674, 449693
337. 2248465

102,01



i
& W

2-125
2-126

2-115

* e
R

2-125
2-126

2-115

2-7

s sk AT TEL

91-27-50
90-31-43
89-26-19
96-26-46

172-07-22

7 £

253-22-56

163-54-39

© 73-20-58

349-47-44

341-55-06

gt =

W

6,831
27.956
6.685
8,158

19.850

(

EE R OB )

[1]

X (i)
-53480.318
-53482,272
-53509, 133
-53507,217

-53499.188

e S

Y (i)
44056.130
44049,.584
44057, 331
44063.736

44062, 291

(Work No.

X(i+1)-X(i-1)

-28.815%

8)

(3]

16,916

-24,945

9.945
26.899
1% T

[T

I

[2]*[3]

745253.495080
~1269288,762960
-1099010.121785

438213.854520

1185231.565609
400,.030454
200.0152270

60.50



7?/

* = TEH A B B ( FE B & ) =+ =*x (Fork No. 15)

T ¥ il £ WO 1) 2] (3] (2% [3]
X (i) Y (i) X(i+1)-X (i-1)
2-115 2-1268 83-42-52 253-20-58 6.685 -538507,217 44063, 736 8,014 353126,780304
2-126 2-124 180-01-558 253-22-53 11.923 -53509,133 44057.331 -5.326 -234649.344906
2-124 2-132 89-45-45 163-08-38 5,029 -53512,.543 44045,906 -8.222 -362145,439132
2-132 2-130 180-12-10 163-20-48 . 016 -53517. 355 44047, 364 -9.617 -423603, 499588
2-130 2-128 89-59-32 73-20-20 17.485 -53522.160 44048.801 0.208 9162,150608
2-128 2-115 96-17-46 349-38-06 10.094 -53517,147 44065, 552 14,943 658471.543538
& ™ 362.190822
m B 181,0954110
B % 54.78



_s/

i
& W R

2-140

2-128

2-130
2-127
2-18

2-141

x® ¢
B

2-128
2-130

2-127

2-141

2-140

< > TEH] FE
2-12

W

96-13-24
83-37-48
180-13-07
86-09-28
180-01-09

83-45-04

7 A

349-42-32
253-20-20
253-33-27
169-42-55
169-44-04

73-29-08

st =

R

12.071
17,485
35.622
9,166
2,908

53,109

( FE B s )

X (i)
~53529,023
~53517. 147
~53522, 160
~53532., 242
~53541, 261

~53544.120

44067.709
44065.552

44048, 801

44014.637

44016, 273

44016,791

(Work No.262)

[3]
X(i+1)-X(i-1)

26.973
6.863
-15.085
-19.101
-11.878
12,238
15 B
[T
R

(2] % [3]

1188638.
302421,
~6649186.
~840723.
~522825.
538677.
1272.
636.

192,

314857
883376
651095
581337
290694
488258
163365
0816825

41



2-1490

2-141

2-19

2—141-
2-19
2-25
2-24

2-140

= o THI FE

83-46-36
96-14-56
180-01-51
89-56-54

89-59-43

7| £

253-29-08
169-44-04
169-45-55

79-42-49

349-42-32

st =

PEHE

53.109
38.973

5.946
52.819

50,681

(

2E T #= D

X (i)
-53529.023
-53544.120
-53582.470
-53588.321

-53578.889

s S

Y (i)
44067.709
44016.791
44023,736
44024,793

44076,.763

(Work No. 9)

[3]
X(i+1)-X(i-1)
34.769
~53. 447
~44,201
3.581
59.298
% |
T
R

(2] % [38]

1532180.174221
~-2852565.428577
-1945893,154936

1567652.783733
2613663.892374
5048, 266815
2524,1334075

763.55



= = T M FF B O( BE 8 & ) x «x (Fork No. 10)

Hit #* 2-7-2 o »
# R B K nofA 5w A PR [1] [2] [3] [2]%[3]"
X (i) Y (i) X(i+1)-X(i~-1)

2-24 2-25 89-51-39 258-42-49 52,819 -53578, 889 44076.763 ~2.302 ~101464.708426
2-25 2-27 90-02-15 169-45-04 7.236 ~53588.321 44024.793 ~16.552 ~728698.373736
2-27 2-28 89-57-53  78-42-57 30,432 -58595, 441 44026, 080 ~1.687 ~74271.996960
2-28 2-26 180-00-52  79-43-49 22,3875 -53590.008 44056.023 9.422 415085.848706
2-26 2-24 90-07-21 349-51-10 7.243 ~53586.019 44078, 039 11,119 480103, 715641
| & H & 764, 485225

O | 382.2426125

B 115.62



s

3 sk TH] FE

N A R
90-18-06 259-43-49
89-57-59 169-41-48
90-01-55 79-43-43
89-57-40 349-41-23
186-41-05 856-22-28
173-03-15

349-25-43

st =

0Bk

22.375
26,688
20, 286
4,553
18.134

4.122

BE 8t &5 )

(1]

X (i)
~53586.019
~58590.008
~53616. 266
-53612,649
-53608.169

-53590,072

He

(2]

Y (i)
44078.039
44056.023
44060,796
44080,757
44079, 942

44078.796

(Work No. 12)

(3]
X(i+1)-X(i-1)
0.064
~30., 247
-22.641
8.087
22,577

22,150

1% T B
[
O

[2] % [3]

2820, 994496
~1332562,527681
~997580. 482236
356921.889429
995192.850534
876345.331400
1188, 055942
569.0279710

172.13



< o« THT FE ST 2y ( BE 8 O3 ) ok ok

of

o F o 2-8-1 ‘
Zla HER N A ¥ 0E (1] [2] [3] [2]%[3)
X (i) Y (i) X(i+1)-X(i-1)
2-28 2-27 90-01-09 259-42-57 30,432 -53590.008 44056.023 20,825 917466.678975
2-217 2-13 89-58-07 169-41-04 23.095 -53595. 441 44026.0890 -28.155 -1239554,282400
2-13 2-14 135-04-45 124-45-49 5.062 -53618,163 44030.216 -25.609 -1127569,801544
2-14 2-15 134-58-46 79-44-35 22,040 -53621.050 44034,374 1.038 45707.680212
2-15 2-29 179-58-35 79-43-10 4,812 -53617,125 44056.061 4,784 210764.195824
2-29 2-28 89-58-38 349-41-48 26.688 -53616. 266 44060, 796 27.117 1194796,605132
% K 1611,076199
[ 805,.5380895
2 243.67



*+ = T PR FF & O ( BEE 8 ¥ ) *+ = (Fork No. 13)

z/

B BB MoA KA e (1) (2] (3] (2] 3]
X (i) Y (i) X(i+1)-X(i-1)
2-130 2-132 89-47-21 343-20-48 5.015 ~53522, 160 44048,801 14. 887 655754, 500487
2-132 2-133 90-01-40 253-22-28 15,959 ~53517, 355 44047, 364 0.238 10483,272632
2-133 2-120 269-45-47 343-08-15 5,025 -53521, 922 440382,073 0.242 10655, 761666
2-120 2-23 90-01-41 258-09-56 2,928 -53517.113 44030.615 3.961 174405, 266015
2-23 2-116 180-00-00 253-09-56 15.618 ~53517. 961 44027,812 -5.371 -236473,878252
2-1186 2-127 96-32-16 169-42-12 9.918 ~-53522, 484 44012, 864 -14. 281 -628547,710784
2-127 2-130 83-51-15  73-33-27 35.622 ~53532, 242 44014,637 0.324 14260,742388
% | A 538,454152
O 269,2270760
B OR 81. 44



44

2-124

2-122

2-120

2-133

2-132

2-122
2-120
2-133
2-132

2-124

s ok TH] FE
2-10
N oA
90-05-22 253-14-00
180-09-48 253-23-48
89-44-27 163-08-15
90-14-13 73-22-28
89-46-10 343-08-38

st =

WAk

3.579
12,381
5.025
15,959

5.029

(

EE B &= D

X (i)
-53512,543
-53513.575
-53517.113
-535621.922

-53517.3565

44045.906
44042, 480
44030,615
44032,073

44047.364

(Work No. 14)

(3]

X(i+1)~-X(i-1)

3.780
-4, 570
-8.347
-0.242
9.378
1% 1 &
[T
I

[2]) = [3]

166493.524680

-201274.133600
-367523.543405

-10655.761666

413120,.226956
160,312965
80.1564825

24.24



